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Abstract

| came across "The Ramanujan Machine™ on the Internet and, using my intuition on those kind of
stuff, 1 found some interesting results. The link to the website mentioned above is
https://www.ramanujanmachine.com/results/ and the results | found is listed below:
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Now here | am using formula #1 to get formula #5
(By the way you can do the same on all the other formulas as well)
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1,0,1, 2,9, 44, 265, 1854, 14833, 133496, 1334961, 14684570, 176214841, 2290792932,
32071101049, 481066515734, 7697064251745, 130850092279664, 2355301661033953, ...
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or you can use this formula if you want:
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or you can use this formula if you want:
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1,-1,-1,-1,1, 19, 151, 1091, 7841, 56519, 396271, 2442439, 7701409, -145269541,
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Using formula #1 to get formula #5

Proof:

Lets start with formula #1
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Now lets repeat m times from the base form and we will get this:
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LHS : Infinite continued fraction
RHS : Finite continued fraction with m+1 steps
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